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dec Wi, Wi

it {
T A ool
bin N2, datan loo

haet LATA, #0 ; otop bit
call  waik. . period
“ I L o‘l‘ ﬁ(‘%lp{oué he l
M How WO{JYJ j‘m& wr'|$'€ Fhe Wa“L "ch“ | .
2. A bt Sjvxc\/xromoub L?H&U"jAOWﬂ counter with Par“ud lood, cound enable aud
Jterm'ma\ count (i.e., couo-L\L:?f) ou\Pui s couné&éé to a microcontrelle
a5 shown i e f:gum. tow can you use s cireut do generte a

PU\% O£ 6 e leug}r{/)? (WL\M LoAD =1, the counter loads the muwlloer
O(k H/\l 00‘93 THPW[’.S) .

RB1 e’—E’"\w
CE T | > Pulse Output

RA3 ——1 D3 Gt

ﬂ\% B
w7
CAG —Ds (! \j

kB¢ LA® |
{’—> 1
L—* A Whe cfocle ,’;Oufﬂ

| . A\




@) miser

MoV #6/ W¢
Wov Wg, PORTA

heel PoRTE, # 48 ; enable load
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2. The ama&og Inpd \/ol‘rage appiie‘d fo an -bit ADC with 5.0 Volts
full conversion range iv Y5 volls. Write down inputs applied to
the DAC at each conversion clock 'oer(ocl, Whod i the ADC result?

ANSWER = DAC= 10000000 Vout= 2.5V Comparador= 1

I DAC= 14000000 \/OH = 395V Compotrcrior*: 1
DAC = 11100000 Voul = U375V Comparador = O
DAC= 11010000 \Vout = Y. 0625 V Compmraj(or =
DAC = 41011000 \/oux =4, 24875 v C()mPan:A'Or =0
DAC = 11 010100 Vot =4 440825V Comparator = 1
DAC = 11 040110 Vout = L 1796875V Compoua*x’)r =0
DAC = 11 010401  Voub = HAOA5625Y  Comparatlor = 0

I

ADC result = 11010100
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